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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

I.Com. 

Model Set 

Accountancy(OPT.)

               le;%& 3 ?kaVs 15 feuV 

            Time:- 3 hours 15 minute 
dqy iz’uksa dh la[;k% 100 $ 30 $ 8 ¾ 138 
Total No. of question : 100 + 30 +8 =138 
      

 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa ds vuqikyu ds fy, 15 feuV dk 

vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two section: Section-A and Section-B. 

Sub. Code :- 220 
fo"k; dksM & 220 

iw.kkZad & 100 
Full Marks -100 
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5- [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA ipkl ls vf/kd iz’uksa ds mÙkj nsus ij izFke 50 mÙkjksa dk gh 

ewY;kadu dEI;wVj }kjk fd;k tk;sxkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA 

lgh mÙkj miyC/k djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh òÙk dks 

uhys@dkys ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk mÙkj iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk 

ijh{kk ifj.kke vekU; gksxkA 

In Section- A there are 100 objective type questions, out of which 

any 50 questions are to be answered. First 50 answers will be 

evaluated by the computer in case more than 50 questions are 

answered. Each question carries 1 mark. Darken the circle with 

blue/ Black ball pen against the correct option on OMR Answer 

sheet provided to you. Do not use whitener/ Liquid/ Blade/ Nail etc. 

on OMR- Sheet, otherwise the result will be invalid. 

6- [k.M&c esa 30 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr bl [k.M 

esa 08 nh?kZ mÙkjh; iz’u gSaA izR;sd iz’u ds fy;s 5 vsd fu/kkZfjr gSa] ftuesa esa ls 

fdUgha 4 iz’uksa dk mÙkj nsuk gSaA 

 In Section-B, there are 30 short answer type questions, each 
question carries 2 marks, out of which any 15 questions are to be 
answered. Apart from this, there are 8 Long Answer Type questions 
each question carries 5 marks, Out of which any 4 questions are to be 
answered. 

7- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 
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Use of any electronic appliances is strictly prohibited.

Section- A (Objective Type Questions) 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x,] ftuesa ls ,d 

lgh gSA fdUgha 50 iz’uksa ds mÙkj nsaA vius }kjk pqus x, iz’uksa ds lgh fodYi dks 

OMR&’khV ij fpfUgr djsaA izR;sd iz’uksa ds fy, 1 vad fu/kkZfjr gSA  50 x 1=50 

Question No.- 1 to 100 have four options, out of which only one is 

correct. Answer any 50 questions. You have to mark, your selected option, 

on the OMR-Sheet. Each question carries 1 (one) mark.  50 x 1=50 

1- iwWthxr izd`fr dh lHkh izkfIr;k¡ fn[kkbZ tkrh gS % 

A- vk;&O;; [kkrk esa   B- fLFkfr fooj.k esa 

C- ykHk& gkuh [kkrk esa  D- buesa ls dksbZ ugha 

All receipts of capital nature are shown in - 

A. Income and Expenditure A/c B. Balance Sheet 

C. P. & L. A/c    D. None of these 

2- vnÙk pUns dks fn[kk;k tkrk gS % & 

A- lEifÙk Hkkx    B- nkf;Ùo Hkkx esa 

C- izkfIr Hkkx esa    D- buesa ls dksbZ ugha 

Outstanding subscriptions are shown in - 

A. Assets Side   B. Liabilities Side 
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C. Receipt Side   D. None of these 

3- fuEu esa ls dkSu ^^ ykHk u dekus okyh laLFkk** ugh gSa \ 

A. egkfo|ky;     B- [ksydwn Dyc 

C. ek:fr m|ksx     D. vLirky 

Which of the following is not a “not- for profit organisation”? - 

A. College     B. Sports Club 

C. Maruti Udyog    D. Hospital 

4- ,d laLFkk }kjk izkIr pUnk gS & 

A- iw¡thxr izkfIr    B- vk;xr izkfIr 

C- A vkSj B nksuksa    D- mijksDr esa ls dksbZ ugha 

Subscription received by an organisation is - 

A. Capital Receipt     B. Revenue Receipt 

C. Both A & B     D. None of the above 

5- fuEu esa ls dkSu& lk vykHkdkjh laLFkku gS\ 

A- fcgkj vdknfed ifj’kn~   B- VkVk LVhy 

C- ,;j bafM;k     D- tsV ,;jost 

Which of the following is a non-profitable organization? 

A. Bihar Academic Council  B. Tata Steel 
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C. Air India     D. Jet Airways 

6- ,d Dyc }kjk izkIr vkthou 'kqYd gS& 

A- vk;xr izkfIr    B- iw¡thxr izkfIr  

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Life Membership fee received by a club is- 

A. Revenue Receipt   B. Capital Receipt 

C. Both A & B    D. None of these 

7- xSj& O;kikfjd laLFkkvksa esa ns;rkvksa ij ifjlEifÙk;ksa ds vkf/kD; dks dgrs gS& 

A- iwWth fuf/k     B- lEifr  

C- ykHk      D- 'kq) ykHk 

The excess of assets over liabilities in non- trading concerns is 

termed as:- 

A. Capital Fund    B. Asset 

C. Profit     D. Net Profit 

8- pkyw o"kZ ds nkSjku vfxze izkIr pUns gS & 

A. vk;      B. lEifÙk 

C. nkf;Ro      D- buesa ls dksbZ ugha 

Subscription received in advance during the current year is:-  

A. An Income   B. An Asset 
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C. A Liability    D. None of These 

9- ,d Ldwy }kjk okf"kZdksRlo ds fy;s izkIr fd;k x;k pUnk ekuk tkuk pkfg,%&  

A- iw¡thxr izkfIr   B- vk;xr izkfIr 

C- lEifÙk    D- mikftZr vk; 

Subscription received by a school for organizing annual function is 

treated as - 

A. Capital Receipt   B. Revenue Receipt 

C. Asset    D. Earned Income 

10- ,d lkekU; lk>snkjh esa lk>snkjksa dh vf/kdre la[;k gks ldrh gS& 

A- 50     B. 10 

C. 15     D. 20 

In an ordinary partnership, maximum number of partners can be- 

A. 50     B. 10 

C. 15     D. 20 

11- fuEu esa ls dkSu& lk ykHk fu;kstu gS\& 

A- _.k ij C;kt   B- iw¡th ij C;kt 

C- osru     D- fdjk;k 

Which of the following is an appropriation of Profit? - 

A. Interest of Loan    B. Interest on Capital 
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C. Salary     D. Rent 

12- lk>snkj dk pkyw [kkrk cuk;k tkrk gS tc lk>snkjksa dh iw¡th j[kh tkrh gSa & 

A- ifjorZu’khy vk/kkj ij  B. LFkk;h vk/kkj ij 

C. nksuksa gh ifjfLFkfr;ksa esa  D. buesa ls dksbZ ugha 

Partner’s current account is prepared when capital of partners is 

maintained under - 

A. Fluctuating basis  B. Fixed Basis 

C. In both the Situations  D. None of These 

13- lk>snkjh lays[k ds vHkko esa lk>snkj gdnkj ugh gSa %  

A- osru ikus dk    B. deh’ku ikus dk 

C. iw¡th ij C;kt ikus dk  D. mi;qZDr lHkh 

 

In the absence of partnership deed, Partners are not entitled to receive – 

A. Salaries    B. Commission 

C. Interest on Capital  D. All of the above 

14- ;fn leku ekfld jkf’k izR;sd ekg ds 'kq: esa vkgj.k dh tkrh gS rks dkSu ls 

le; dks /;ku esa j[kk tk;sxk \ 

A- 7 ekg    B- 6 ekg 

C- 5 ekg    D- 6-5 ekg 

What time would be taken into consideration if equal monthly 

amount is drawn at the beginning of each month ? 
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A. 7 Months    B. 6 Months 

C. 5 Months    D. 6.5 Months 

15-  tc vkgj.k dk le; u fn;k gks rks vkgj.k ij C;kt yxk;k tkrk gSS & 

A- 6 1@2 eghus ds fy,  B- 6 eghus ds fy;s 

C. 5 ½ eghus ds fy,   D. 12 eghus ds fy, 

When times of withdrawals are not mentioned, interest on drawing 

is charged - 

A. For 6 ½ Months   B. For 6 Months 

C. For 5 ½ Months   D. For 12 Months 

16- Lk>snkjksas dh iw¡th LFkk;h gksus ij dkSu ls [kkrs [kksys tkrs gS\ 

A- dsoy iw¡th [kkrs   B- dsoy pkyw [kkrs 

C- nkf;Ro [kkrs   D- iw¡th vkSj pkyw [kkrs 

Which account is opened when the capitals are fixed? 

A. Only Capital Accounts B. Only Current Accounts 

C. Liability Accounts  D. Capital and Current Accounts 

17- Lk>snkjksa ds vkgj.k ij C;kt gSa &  

A- O;olk; ds fy;s gkfu  B- O;olk; ds fy;s ykHk 

C- lk>snkjksa dks ykHk   D- cSad dks gkfu 

Interest on drawing of the Partners is a  - 
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A. Loss to Business  B. Profit to business 

C. Profit to Partners  D. Loss to Banks 

18- IkfjorZu’khy iw¡th [kkrs dks ØsfMV fd;k tkrk gS& 

A- iw¡th ij C;kt ls    B- o"kZ ds ykHk ls 

C- lk>snkjksa ds ikfjJfed ls  D- mi;qZDr lHkh ls 

Fluctuating Capital account is credited with - 

A. Interest on capital  B. Profit of the year 

C. Remuneration of partners D. All of the above 

19- Lk>snkjh vuqca/k esa ifjoZru dk ifj.kke gSA 

A- QeZ dk iquxZBu   B- QeZ dk lekiu 

C- QeZ dk ,dhdj.k   D- buesa ls dksbZ ugha 

Change in the Partnership agreement result in  - 

A. Reconstitution of Firm  B. Dissolution of Firm 

C. Amalgamation of Firm D. None of these 

20- Rkhu lk>snkjksa dk cjkcj ykHk vuqikr gS & 

A- 1@2 % 1@3 % 1@6   B- 4@9 % 1@3 % 2@9 

C- 1@3 % 1@3 % 1@3  D- 1@2 % 1@4 % 1@4 

Equal Profit ratio of three Partners is- 

A. 1/2 :  1/3 : 1/6   B. 4/9 : 1/3 : 2/9 
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C. 1/3 : 1/3 : 1/3   D. ½ : ¼ : ¼  

21- [;kfr ,d lEifÙk gSa & 

A- O;FkZ     B. ewrZ 

C. ewY; jfgr    D- ewY;oku 

Goodwill is an asset -  

A. Useless    B. Tangible 

C. Worthless    D. Valuable 

22- vf/k& ykHk ls vki D;k le>rs gSa\ 

A- dqy ykHk@ o"kksZ dh la[;k  B. vkSlr ykHk@lkekU; ykHk 

C. Hkkfjr ykHk@ Ø; o"kksZ dh la[;k  D- buesa ls dksbZ ugha 

What do you mean by super profit? 

A- Total Profit/ No. of Years   

B- Average Profit/ Normal Profit 

C- Weighted Profit/ No. of Year’s Purchase  

D- None of these 

23- ,dkdh O;kikj esa [;kfr dk ewY;kadu vko’;d ugha gSa & 

A- O;olk; cspus ij   B- nkf;Ro ds fu/kkZj.k ij 

C- lEink ds fu/kkZj.k ij  D- buesa ls dksbZ ugha 

The valuation of Goodwill is not necessary in sole Trading- 

A. On Selling the firm  B. On Estimation of Liabilities 
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C. On Estimation of Assets D. None of these 

24- Lkk>snkj ds iwWth [kkrs dks ØsfMV fd;k tkrk gSA& 

A- iwWth ij C;kt ls    B. vkgj.k ij C;kt ls  

C. vkgj.k ls    D- gkfu esa fgLlk ls 

The Partner’s Capital Account is credited with- 

A- Interest on Capital  B. Interest on Drawings 

C. Drawings    D. Share in Loss 

25- Uk;s lk>snkj }kjk udn esa yk;h x;h [;kfr dgykrh gS & 

A- lEifr    B- ykHk 

C- izhfe;e     D- buesa ls dksbZ ugha 

Share of Goodwill brought in cash by the new partner is called - 

A. Assets    B. Profit 

C. Premium    D. None of these 

26- nkf;Ùo esa deh gSa & 

A- nkf;Ro    B- gkfu  

C- O;;     D- ykHk 

Decrease in the liabilities is- 

A. Liability    B. Loss 

C. Expenses    D. Gain 
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27- ,d u;s lk>snkj ds izos’k ds le; lkekU; lap; gLrkUrfjr fd;k tkrk gSa& 

A- iquewZY;kadu [kkrk esa  B- iqjkus lk>snkjksa ds iw¡th [kkrsa esa 

C- ykHk& gkuh lek;kstu [kkrs esa D- olwyh [kkrs esaA 

 

General Reserve at the time of admission of a new partner is 

transferred to - 

A. Revaluation A/c    B. Old partner’s capital A/c 

C. Profit and Loss Adjustment A/c  D. Realization A/c 

28- ,d u;s lk>snkj ds izos’k ij] lEifr;ksa ds ewY;kadu esa deh dks MsfcV fd;k 

tkrk gS& 

A. iqueZwY;kadu [kkrk esa   B. ifjlEifr [kkrsa esa 

C. iqjkus lk>snkjksa ds iw¡th [kkrs esa D. buesa ls dksbZ ughas 

On the admission of a new Partner, the decrease in the value of 

assets is debited to -      

A. Revaluation A/c   B. Assets A/c 

C. Old partner’s capital A/c          D. None of these 

29- ,d lk>snkj ds vodk’k ds le;] lkekU; lap; dh jkf’k dks lHkh lk>snkjksa ds 

iwath [kkrs esa gLrkUrfjr fd;k tkrk gS& 

A- u;s ykHk&gkfu vuqikr esa 
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B- iw¡th ds vuqikr esa  

C- iqjkus ykHk&foHkktu vuqikr esa 

D- buesa ls dksbZ ugh 

At the time of retirement of a partner, the amount of General 

Reserve is transferred to all Partner’s capital accounts in- 

A. New Profit- sharing Ratio 

  B. Capital ratio 

C. Old Profit- Sharing Ratio 

D. None of these 

30- A, B, vkSj C 1@2 % 1@3 % 1@6 ds vuqikr esa ykHk ckWVrs gSA C vodk’k xzg.k 

djrk gSA izkfIr vuqikr gksxk % 

A- 2%1     B- 2%3 

C- 3%2     D- 1%2 

A, B, and C are sharing profit in the ratio of ½ : 1/3 : 1/6  C retired 

Gaining ratio will be- 

A. 2:1     B. 2:3 

C. 3:2     D. 1:2 

31- ;fn vodk’k xzg.k djus okys lk>snkj dks vodk’k xzg.k djus ij mldh ns; 

jkf’k dk iw.kZ Hkqxrku ugha fd;k tkrk gS rks 'ks"k gLrkUrfjr fd;k tkrk gSA 

A- _.k [kkrs esa   B- iw¡th [kkrs esa  
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C- cSad [kkrs esa    D- mpUr [kkrs esa 

If the retiring partner is not paid in full amount due to him 

immediately on retirement, the balance is transferred to - 

A. Loan A/c     B. Capital A/c 

C. Bank A/c    D. Suspense A/c 

32- Lkk>snkj ds vodk’k xzg.k djus ij mlds fgLls dh [;kfr dks 'ks"k lk>snkjksa ds 

e/; vifyf[kr dj fn;k tkrk gS & 

A- u;s ykHk foHkktu vuqikr esa  B- u;s iw¡th ds vuqikr esa 

C- ykHk izkfIr ds vuqikr esa   D- buesa ls dksbZ ugha 

On retirement of a partner, his share of goodwill is written off 

among continuing partners in their -  

A. New Profit Sharing Ratio  B. New Capital Ratio 

C. Gaining Ratio    D. None of these 

33- QeZ }kjk izkIr la;qDr chek ikWfylh dh jkf’k ckWVh tkrh gSA 

A- izkjafHkd iw¡th vuqikr esa     

B- vafre iw¡th vuqikr esa 

C. lk>ksnkjksa ds iqjkus ykHk foHkktu vuqikr esa  

D- lk>sknjksa ds u;s ykHk foHkktu vuqikr esa 

Joint Life Policy amount received by a Firm is distributed in:- 
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A. Opening Capital Ratio       

       B. Closing Capital ratio. 

        C. Old Profit Sharing Ratio of partners     

       D. New Profit Sharing Ratio of partners 

34- ,d lk>snkj dh eR̀;q gksus ij la;qDr thou chek ikWfylh dks fuEu ds iwWth 

[kkrs esa tek fd;k tkrk gS& 

A- flQZ e`r lk>snkj ds             

B- er̀ lk>snkj lfgr lHkh lk>snkjksa ds 

C. 'ks"k cps lk>snkjksa ds muds u;s ykHk& foHkktu vuqikr esa         

D- 'ks"k cps lk>snkjksa ds muds iqjkuss ykHk& foHkktu vuqikr esa  

On the death of a partner, the amount of joint Life Insurance Policy 

is credited to the capital Accounts of:- 

A. Only the deceased partner                               

B. All partners including the deceased partner  

C. Remaining partners, in the new profit- sharing ratio    

        D. Remaining partners in their old profit- sharing ratio 

35- fdlh lk>snkj dh eR̀;q ij lEifr;ksa ds iquewZY;kadu ds ykHk dks iw¡th [kkrs esa 

tek fd;k tkrk gS 

A- eR̀kd lk>sknj ds   B- lHkh lk>snkj ds 

C- ckdh lk>snkj ds   D- ek= nks lk>snkj ds 
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On the death of a partner, the profit on revaluation is transferred to 

capital A/c of. 

A. Deceased partner  B. All Partners 

C. Remaining Partner  D. Only two partners 

36- x, y  vkSj z ykHk& gkuh 1@3 % 1@3 % 1@3 vuqikr esa ckVrs gSA z dh eR̀;q 

gks tkrh gSA x vkSj y  dk u;k ykHk& vuqikr gksxk% 

A- 2@3 % 1@3     B- 1@2 % 1@2 

C. 1@4 % 3@4    D- 2@5 % 3@5 

X, Y and Z share profit and loss in the ratio of 1/3 : 1/3 : 1/3,  Z 

dies. New profit ratio of X and Y will be:- 

A. 2/3 : 1/3     B. ½ : ½  

C. ¼ : ¾      D. 2/5 : 3/5  

37- fdlh lk>snkj }kjk : 20]000 ds nkf;Ro ds Hkqxrku dh ftEesnkjh ysus ij 

ØsfMV fd;k tk;sxk& 

A- olwyh [kkrk     B- jksdM+ [kkrk 

C- lk>snkj dk iw¡th [kkrk   D- nkf;Ro [kkrk 

On taking responsibility of payment of a liability of Rs, 20,000 by a 

partner, the account credited will be- 

A. Realizations A/c   B. Cash A/c 

C. Partners capital A/c   D. Liability A/c 
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38- QeZ ds fo?kVu ij cSad vf/kfod"kZ dks gLrkUrfjr djsxsa& 

A- lk>snkj ds pkyw [kkrs esa   B- cSad [kkrks esa 

C- olwyh [kkrs esa    D- lk>snkj ds iw¡th [kkrksa esa 

On dissolution of a firm, Bank Overdraft is transferred to - 

A- Partner’s current A/c   B- Bank A/c  

C- Realisation A/c   D- Partner’s capital A/c 

39- Lakfpr ykHk vkSj lap; dk gLrkUrj.k fd;k tk;sxk& 

A- olwyh [kkrs esa   B- lk>snkjksa ds iw¡th [kkrs esa 

C- cSad [kkrs esa    D- buesa ls dksbZ ugha 

The accumulated profit and reserves are transferred to - 

A. Realisation A/c   B. Partner’s capital A/c 

C. Bank A/C    D. None of these 

40- QeZ ds lekiu ij olwyh [kkrs dh gkfu dks fdl [kkrs esa MsfoV fd;k tkrk gSa\ 

A- jksdM+ [kkrk    B- lk>snkjksa dh iw¡th [kkrk 

C- olwyh [kkrk    D- buesa ls dksbZ ugha 

On Dissolution of firm, loss on realization account is debited to 

which account ? 

A. Cash A/c    B. Partner’s capital A/c 

C. Realisation A/c   D. None of these 
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41- Lkk>snkjh QeZ ds lekiu ds le; d`f=e lEifr;ksa dks gLrkUrfjr fd;k tkrk 

gS& 

A- lk>snkjksa ds iw¡th [kkrk esa   B- olwyh [kkrk esa 

C- jksdM+ [kkrk esa    D- lk>snkjksa ds _.k [kkrs esa 

At the time of dissolution of partnership firm fictitious assets are 

transferred to- 

A. Capital A/c of partners  B. Realisation A/c 

C. Cash A/c     D. Partner’s loan A/c 

42- QeZ ds lekiu ij lcls var esa dkSu&lk [kkrk cukuk pkfg,\ 

A- olwyh [kkrk    B- lk>snkjksa ds iw¡th [kkrk 

C- jksdM+ ;k cSad [kkrk  D- lk>snkjksa ds _.k [kkrk 

On firm’s dissolution which one of the following account should be 

prepared at the last? 

A. Realisation A/c   B. Partner’s capital A/c 

C. Cash or Bank A/c  D. Partner’s Loan A/c 

43- ;fn QeZ dh dqy lEifr;kW : 3]25]000 gks ,oa dqy okã ysunkj : 45]000 gks 

rks lk>snkjksa dh iw¡th dh jkf’k gksxh& 

A- : 3]70]000    B- : 2]80]000 

C- : 3]00]000    D- buesa ls dksbZ ugha 
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If the total assets of a firm are Rs. 3,25,000 and the total outside 

liabilities Rs. 45,000, then the amount of partner’s capital will be- 

A. Rs. 3,70,000   B. Rs. 2,80,000 

C. Rs. 3,00,000   D. Rs. None of these 

44- QeZ ds fo?kVu ij] lk>snkj ds _.k [kkrs dks gLrkurfjr djsxsa& 

A- olwyh [kkrs esa   B- lk>snkj ds iw¡th [kkrs esa 

C- lk>snkj ds pkyw [kkrs esa  D- buesa ls dksbZ ugha 

On dissolution of a firm, partner’s loan account is transferred to- 

A. Realisation A/c   B. Partner’s capital A/c 

C. Partner’s Current A/c   D. None of These 

45- U;k;ky; }kjk ,d lk>snkj dks fnokfy;k ?kksf"kr fd;k tkuk QeZ ds fdl izdkj 

ds lekiu ds varxZr vk;sxk \ 

A- U;k;ky; }kjk lekiu   B- vfuok;Z lekiu 

C- fdlh ?kVuk ds ?kVus dh fLFkfr esa D- buesa ls dksbZ ugha 

Insolvency of a partner adjudicated by the court will come under 

which type of dissolution of a firm ? 

A. Dissolution by court    

B. Compulsory Dissolution 

C. On happening of certain Contingenies   

D. None of these 
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46- ;fn : 10 okyk lerk va’k : 12 ij fuxZfer fd;k tkrk gS] rks bls dgk 

tkrk gS & 

A- leewY; ij fuxZeu   B- vf/kewY; ij fuxZeu 

C- dVkSrh ij fuxZeu    D- buesa ls dksbZ ugha 

If equity share of Rs. 10 each is issued at Rs. 12 each, it is called:- 

A. Issued at par    B. Issued at Premium 

C. Issued at Discount   D. None of these 

47- va’kks ds fuxZeu ij vf/kyke dk mi;ksx fd;k tk ldrk gS& 

A- cksul va’kks ds fuxZeu ds fy;s  B- ykHk forj.k ds fy;s 

C- lkekU; lap; esa gLrkUrj.k ds fy;as D- ;s lHkh 

Premium on issue of share can be used for- 

A. Issue bonus shares   B. Distribution of Profit 

C. Transferring to general Reserve D. All these 

48- nkf;Roksa dh dqy jkf’k esa lfEefyr gksrk gS 

A- vf/kd`r iw¡th    B- fuxZfer iw¡th 

C- izkfFkZr iw¡th     D- pqdrk iw¡th 

Total amount of liabilities side includes : 

A. Authorized Capital   B. Issued Capital 

C. Subscribed Capital   D. Paid- up Capital 
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49- va’k vkoaVu [kkrk gksrk gS % 

A- O;fDrxr [kkrk    B- okLrfod [kkrk 

C- ukeek= [kkrk    D- buesa ls dksbZ ugha 

Share Allotment account is- 

A. Personal A/c    B. Real A/c 

C. Nominal A/c    D. None of these 

50- va’kksa ds vf/kewY; dks vkfFkZd fpB~Bs ds fdl i{k esa fn[kk;k tkrk gS\ 

A- lEifr     B- nkf;Ro 

C- nksuksa      D- buesa ls dksbZ ugha  

Premium on issue of shares is shown on which side of the balance 

sheet? 

A. Assets      B. Liabilities 

C. Both     D. None of these 

51- _.ki=ksa ds fuxZeu ij dVkSrh gS& 

A- LFkk;h lEifÙk    B- pkyw lEifÙk 

C- okLrfod lEifÙk    D- d`f=e lEifÙk 

Discount on issue of debentures is- 

A. Fixed Asset    B. Current Asset 

C. Real Asset    D. Fictitious Asset 

52- dEiuh ds lekiu ij _.ki=ksa ds ewYk/ku dh okilh dh tkrh gS& 
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A- lcls igys     B- lcls ckn esa 

C- lerk iw¡th ls igys   D- buesa ls dksbZ ugha 

On liquidation of a company principal amount of debentures is 

returned- 

A. First of all     B. Last of all 

C. Before equity capital   D. None of these 

53- isVsUV~l o dkWihjkbV fdl Js.kh ds varxZr vkrs gS \ 

A- pkyw lEifr;kW    B- rjy lEifr;kW 

C- vewrZ lEifr;kW    D- buesa ls dksbZ ugha 

Patents and copyrights fall under the category of- 

A. Current Assets    B. Liquid Assets 

C. Intangible Assets   D. None of These 

54- ykHkka’k lkekU;r% fn;k tkrk gS& 

A. vf/kd`r iw¡th ij    B- fuxZfer i¡wth ij 

C- iznÙk iw¡th ij     D- ;kfpr iw¡th ij 

Dividend is usually paid- 

A. On Authorized capital   

B. On Issued capital 

C. On paid up capital 
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D. On Called up capital 

55- forh; forj.kksa ds fo’ys"k.kksa esa 'kkfey gksrk gS& 

A- O;kikfjd [kkrk    B- ykHk&gkuh [kkrk 

C- vkfFkZd fpB~Bk    D- mi;qZDr lHkh 

Analysis of financial statement involve- 

A. Trading A/c    B. Profit & Loss A/c 

C.  Balance sheet    D. All of these 

56- forh; fo’ys"k.k mi;ksxh gS& 

A- fofu;ksxdrkZ ds fy;s   B- va’k/kkfj;ksa ds fy;s 

C- _.ki=/kkfj;ksa ds fy;s   D- mi;qZDr lHkh 

Financial Analysis is useful- 

A. For Investors    B. For Shareholders 

C. For Debenture holders  D. All of the above 

57- LFkk;h lEifr;ksa esa 'kkfey gksrk gS& 

A- jksdM+     B- e’khujh 

C- nsunkj     D- iwoZnr O;; 

The term fixed assets include- 

A. Cash     B. Machinery 

C. Debtors     D. Prepaid Expenses 
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58- fuEu esa ls dkSu lk lapkyu O;; ugha gS\ 

A- foKkiu     B- dkj dh fcØh ij gkfu 

C- osru      D- forj.k O;; 

Which of the following is not operating expenses? 

A. Advertisement    B. Loss on sale of car 

C. Salaries     D. Distribution expenses 

59- udn fcØh gS& 

A- ifjpkyu fØ;k    B- fofu;kstu fØ;k 

C- forh; fØ;k     D- buesa ls dksbZ ugha 

Cash Sales is- 

A. Operating Activity   B. Investing Activity 

C. Financing Activity   D. None of these 

60- Iyk.V ,oa e’khujh ds Ø; ds izfrQy esa va’kksa dk fuxZe.k gS& 

A- jksdM+ dk vUrokZg    B- jksdM+ dk cfgokZg 

C- u vUrokZg vkSj u cfgokZg   D- buesa ls dksbZ ugha 

Issue of shares in consideration of purchase of plant and 

machinery result into- 

A. Inflow of Cash    B. Out flow of Cash 

C. Neither Inflow nor Outflow  D. None of these 
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61- _.ki=ksa ds 'kks/ku ij izhfe;e gS % 

A- lEifÙk     B- O;; 

C- nkf;Ro     D- vk; 

Premium on Redemption of Debentures is : 

A. Asset     B. Expenses 

C. Liability     D. Revenue 

62- _.ki=ksa ds 'kks/ku ij izhfe;e [kkrk gS 

A- O;fDrxr [kkrk    B- okLrfod [kkrk 

C- ukeek= [kkrk    D- mpUrh [kkrk 

Premium on redemption of debenture Account is a  

A. Personal A/C    B. Real A/C 

C. Nominal A/C    D. Suspense A/C 

63- 'kks/ku dks"k fofu;ksx gS % 

A- vk;      B- O;; 

C- lEifÙk     D- nkf;Ro 

Sinking Fund Investment is a/an : 

A. Income     B. Expenditure 

C. Asset     D. Liability 

64- _.ki=ksa ds 'kks/ku ij izhfe;e dh O;oLFkk lkekU;r%] ds le; dh tkrh gS% 
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A- _.ki=ksa ds fuxZeu   B- _.ki=ksa ds 'kks/ku 

C- viys[ku     D- 10 o"kksZa ds i'pkr~ 

Premium on redemption of debentures is generally provided at the 

time of : 

A. Issue of debentures   B. Redemption of Debentures 

C. Writing off     D. After 10 years 

65- ,d vkneh us izR;sd 100 okys 1]000] 12 izfr’kr _.ki=ksa dks 10 izfr’kr 

izhfe;e ij fuxZfer fd;kA 12 izfr’kr gS 

A- ykHkka’k dh nj    B- dj dh nj 

C- C;kt dh nj    D- buesa ls dksbZ ugha 

A company issued 1000, 12% debentures of 100 each at 10% 

premium. 12% stand for  

A. Rate of Dividend   B. Rate of Tax 

C. Rate of interest    D. None of these 

66- fLFkfr fooj.k gS % 

A- [kkrk      B- fooj.k 

C- A vkSj B nksuksa    D- mijksDr esa ls dksbZ ugha 

Balance Sheet is a : 

A. Account     B. Statement 

C. A and B both    D. None of the above 
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67- vkfFkZd fpV~Bs esa va’k iw¡th dks fdl 'kh"kZd ds varxZr fn[kk;k tkrk gS \ 

A- ;kfpr iw¡th     B- fuxZfer iw¡th 

C- iznÙk iw¡th     D- va’k/kkjh dks"k 

Share capital is shown in Balance sheet under which head? 

A. Subscribed Capital   B. Issued Capital 

C. Paid-up Capital    D. Shareholders Funds 

68- dEiuh dk okf"kZd fjiksVZ fuxZr fd;k tkrk gS % 

A- lapkydksa ds fy;s    B- izca/ku ds fy;s 

C- va’k/kkfj;ksa ds fy;s    D- vads{kdksa ds fy;s 

An Annual Report is issued by company for : 

A. Directors     B. Management 

C. Shareholders    D. Auditors 

69- lapkydksa dh fjiksVZ dEiuh dh fdl lHkk esa izLrqr dh tkrh gS \ 

A- lapkydksa dh lHkk    B- okf"kZd lk/kkj.k lHkk 

C- izcU/kdksa dh lHkk    D- buesa ls dksbZ ugha 

In which meeting of a company directors report is presented ? 

A. Board of Director’s Meeting  B. Annual General Meeting 

C. Managers Meeting   D. None of these 

70- iw¡thxr izd`fr dh lHkh izkfIr;k¡ fn[kk;h tkrh gS % 
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A- vk;&O;; [kkrs esa    B- fLFkfr fooj.k esa 

C- ykHk&gkfu [kkrs esa    D- buesa ls dksbZ ugha 

All receipts of capital nature are shown in: 

A. Income and Expenditure A/C B. Balance Sheet 

C. Profit and Loss A/C   D. None of these 

71- yEcor~ fo’ys"k.k dks dgk tkrk gS % 

A- vfLFkj fo’ys"k.k    B- fLFkj fo’ys"k.k 

C- {kSfrt fo’ys"k.k    D- buesa ls dksbZ ugha 

Vertical Analysis is called : 

A. Fluctuation Analysis   B. Static Analysis 

C. Horizontal Analysis   D. None of these 

72- foÙkh; fooj.kksa ds fuoZpu esa 'kkfey gksrk gS 

A- vkykspuk ,oa fo’ys"k.k   B- rqyuk ,oa izo`fÙk v/;;u 

C- fu"d"kZ fudkyuk    D- buesa ls lHkh 

Interpretation of Financial statements includes : 

A. Criticism and Analysis    

B. Comparison and Trend study 

C. Drawing conclusion 

D. All of these 
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73- le&foPNsn fcUnq] ml fcUnq dks dgrs gSa] tgk¡ 

A- dqy ykxr dqy fcØh ls vf/kd gks 

B- dqy ykxr dqy fcØh ls de gks 

C- dqy ykxr dqy fcØh ls vk/kh gks   

D- dqy ykxr dqy fcØh ls cjkcj gks 

Break-even point refers to that point where : 

A. Total costs are more than total sales    

B. Total costs are less than total sales 

C. Total costs are half of the total sales   

D. Total costs are equal to total sales 

74- foÙkh; fo’ys"k.k ds fy;s midj.k lkekU;r% iz;qDr gS 

A- rqyukRed fooj.k    B- lkekU;&vkdkj fooj.k 

C- ys[kkadu vuqikr    D- mi;qZDr lHkh 

The most commonly used tool for financial analysis are : 

A. Comparative Statement  B. Common-size statement 

C. Accounting Ratio   D. All of the above 

75- le:Ik fooj.kksa dks fuEufyf[kr ds uke ls Hkh tkuk tkrk gS % 

A- xfr’khy fo’ys"k.k    B- {kSfrt@lekukUrj fo’ys"k.k 

C- yEcor~@’kh"kZ fo’ys"k.k   D- cká fo’ys"k.k 
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Commonsize statement are also known as : 

A. Dynamic Analysis   B. Horizontal/Parallel Analysis 

C. Vertical Analysis   D. External Analysis 

76- vk;dj dk Hkqxrku ekuk tkrk gS % 

A- izR;{k O;;     B- vizR;{k O;; 

C- lapkyu O;;    D- buesa ls dksbZ ugha 

Payment of Income Tax is considered as : 

A. Direct Expenses   B. Indirect Expenses 

C. Operating Expenses   D. None of these 

77- lkeku vkdkj ds vkfFkZd fpV~Bk esa dqy lerk ,oa nkf;Roksa dks fdlds cjkcj 

ekuk tkrk gS % 

A- 1000      B- 100 

C- 10      D- 1 

In a common size Balance Sheet, total equity and liabilities are 

assumed to be equal to 

A. 1000      B- 100 

C- 10      D- 1 

78- 'kh"kZ@mnxz fo’ys"k.k tkuk tkrk gS % 

A- LFkSfrd fo’ys"k.k    B- xfr’khy fo’ys"k.k 
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C- lajpukRed fo’ys"k.k   D- buesa ls dksbZ ugha 

Vertical Analysis is also known as : 

A. Static Analysis    B. Dynamic Analysis 

C. Structural Analysis   D. None of these 

79- {kSfrt fo’ys"k.k tkuk tkrk gS % 

A- xfr’khy fo’ys"k.k    B- lajpukRd fo’ys"k.k 

C- LFkSfrd fo’ys"k.k    D- buesa ls dksbZ ugha 

Horizontal Analysis is also known as : 

A. Dynamic Analysis   B. Structural Analysis 

C. Static Analysis    D. None of these 

80- izo`fr fo’ys"k.k esa 'kkfey gksrk gS % 

A- vkykspuk ,oa fo’ys"k.k   B- rqyuk ,oa izo`fÙk v/;;u 

C- fu"d"kZ fudkyuk    D- mijksDr lHkh 

Trend analysis includes : 

A. Criticism and Analysis    

B. Comparison and Trend Study 

C. Drawing Conclusion 

D. All of the above 
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81- ,d dEiuh dh nh?kZdkyhu 'kks/ku {kerk Kkr djus ds fy;s dkSu&lk vuqikr 

vR;ar egRoiw.kZ gS \ 

A- ykHknk;drk vuqikr   B- _.k&lerk vuqikr 

C- LVkWd vkorZ vuqikr   D- pkyw vuqikr 

Which one of the following ratios is most important in determining 

the long-term solvency of a company ? 

A. Profitability Ratio   B. Debt-Equity Ratio 

C. Stock Turnover Ratio   D. Current Ratio 

82- _.k&lerk vuqikr Kkr djus dk lw= gS % 

A- nh?kZdkyhu _.k @ va’k/kkfj;ksa dk dks"k    

B- _.k i= @ lerk iw¡th 

C- 'kq) ykHk @ dqy iw¡th 

D- buesa ls dksbZ ugha 

The formula for finding out Debt-Equity Ratio is  

A. Long-term Debts/Shareholder’s Funds 

B. Debentures / Equity capital 

C. Net profit / Total capital   

D. None of these 

83- fuEufyf[kr esa dkSu&lh rjy lEifÙk gS \ 

A- Hkwfe      B- jgfr;k 
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C- Hkou      D- nsunkj 

Which of the following is liquid asset ? 

A. Land     B. Stock 

C. Building     D. Debtors 

84- pkyw vuqikr gS %& 

A- pkyw laifÙk;k¡ @ pkyw nkf;Ro  B- rjy laifÙk;k¡ @ pkyw laifÙk;k¡ 

C- rjy laifÙk;k¡ @ pkyw nkf;Ro  D- LFkk;h laifÙk;k¡ @ pkyw laifÙk;k¡ 

Current Raio is :- 

A. Current Assets / Current Liabilities 

B. Liquid Assets / Current Assets 

C. Liquid Assets / Current Liabilities 

D. Fixed Assets / Current Assets 

85- fuEu esa dkSu ykHknk;drk vuqikr ugha gS \ 

A- ldy ykHk vuqikr    B- 'kq) ykHk vuqikr 

C- pkyw vuqikr    D- lapkyu vuqikr 

Which of the following is not a profitability Ratio ? 

A. Gross Profit Ratio   B. Net Profit Ratio 

C. Current Ratio    D. Operating Ratio 
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86- dqy fcØh 3]00]000 izkjafHkd nsunkj 25]000 rFkk vafre nsunkj 36]000 rks 

udn fcØh gksxh \ 

A- 2]89]000     B- 3]17]000 

C- 3]25]000     D- buesa ls dksbZ ugha 

Total sales 3,00,000, Debtors at the beginning 25,000 and 

closing Debtors 36,000. Cash sales will be? 

A- 2]89]000     B- 3]17]000 

C- 3]25]000     D. None of these 

87- py vuqikr 1 % 2] py nkf;Ro 25]000 rks py lEifÙk dk ewY; gksxk % 

A- 62]500     B- 12]500 

C- 10]000     D- 15]000 

Current Ratio is 1 : 2, current liabilities 25,000, then the current 

Assets will be : 

A- 62]500     B- 12]500 

C- 10]000     D- 15]000 

88- rjy vuqikr izkIr gksrk gS] rjy laifÙk dks Hkkx nsus ij  

A- nh?kZdkyhu nkf;Ro ls   B- py nkf;Roksa ls  

C- dsoy ysunkjksa ls     D- buesa ls dksbZ ugha 

Liquid ratio is derived by dividing quick assets by 

A. Long term liabilities   B. Current liabilities 
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C. Creditors only    D. None of these 

89- ,d dEiuh dh ewÙkZ lEifÙk;k¡ 4]00]000 ls c<+dj 5]00]000 gks x;hA blesa 

fdrus izfr’kr dk ifjorZu gqvk \ 

A- 20%     B. 25% 

C. 33%     D. 50% 

Tangible assets of a company increased from 4,00,000 to 

5,00,000. What is the percentage of change ? 

A. 20%     B. 25% 

C. 33%     D. 50% 

90- lEifÙk;ksa dk [kkrk gS % 

A- O;fDrxr [kkrk    B- ukeek= [kkrk 

C- okLrfod [kkrk    D- buesa ls dksbZ ugha 

Assets Account is : 

A. Personal Account   B. Nominal Account 

C. Real Account    D. None of these 

91- jksdM+ izokg fooj.k vk/kkfjr gS % 

A- ys[kkadu ds jksdM+ vk/kkj ij  B- ys[kkadu ds miktZu vk/kkj ij 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha 

Cash Flow statement is based upon : 
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A. Cash basis of accounting  B. Accrual basis of accounting 

C. A and B both    D. None of these 

92- fuEu esa ls dkSu ,d jksdM+ en gS \ 

A- udn foØ;     B- [;kfr dk viys[ku 

C- gªkl      D- vizkI; _.kksa ds fy;s izko/kku 

Which one of the following is a cash item ? 

A. Cash sales    B. Goodwill written off 

C. Depreciation    D. Provision for Bad Debts 

93- jksdM+ izokg fooj.k rS;kj fd;k tkrk gS % 

A- vkfFkZd fpV~Bk ls    B- ykHk&gkfu [kkrk ls 

C- vfrfjDr lwpukvksa ls   D- buesa ls lHkh 

Cash Flow statement is prepared from : 

A. Balance Sheet    B. Profit & Loss Account 

C. Additional Information  D. All of these 

94- vk;dj ds Hkqxrku dks oxhZd`r fd;k tkrk gS  

A- lapkyu fØ;k ds :Ik esa   B- fuos’k fØ;k ds :Ik esa 

C- foÙkh; fØ;k ds :Ik esa   D- buesa ls dksbZ ugha 

Payment of Income Tax is classified as : 

A. Operating Activities   B. Investing Activities 
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C. Financial Activities   D. None of these 

95- lapkyu ykHk Kkr djrs le; 'kq) ykHk esa fdls tksM+k tk;sxk\ 

A- C;kt izkIr fd;k    B- laifÙk ds foØ; ij ykHk 

C- lkekU; lap; esa òf)   D- dj dh okilh 

While calculating operating profit, which will be added to net profit? 

A. Interest received   B. Profit on sale of Asset 

C. Increase in General Reserve D. Refund of Tax 

96- fuEu esa ls lapkyu lac/kh fØ;kvksa ls jksdM+ izokg dk mnkgj.k dkSu&lk gS \ 

A- e’khujh dk Ø;    B- va’kks dk fuxZeu 

C- LVkWd dk udn Ø;   D- fofu;ksxksa dk Ø; 

Which of the following is an example of cash flow from operating 

Activities ? 

A. Purchase of Machinery  B. Issue of shares 

C. Cash purchase of Inventory D. Purchase of Investments 

97- vk;dj dh okilh jksdM+ dk --------------- gS 

A- lzksr      B- iz;ksx 

C- nksuksa A vkSj B    D- buesa ls dksbZ ugha 

Income tax refund is a ……….. of cash 

A. Source     B. Application 
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C. Both A & B    D. None of these 

98- jksdM+ izokg fooj.k esa vki cSad vf/kfod"kZ dk O;ogkj dSls fy[ksaxs \ 

A- lapkyu fØ;kvksa ls jksdM+ izokg  B- fofu;ksx fØ;kvksa ls jksdM+ izokg 

C- foÙkh; fØ;kvksa ls jksdM+ izokg  D- jksdM+ lerqY; 

How will you treat Bank overdraft in cash flow statement? 

A. Cash Flow from operating Activities 

B. Cash Flow from Investing Activities 

C. Cash Flow from Financing Activities 

D. Cash Equivalent 

99- fuos’k fØ;kvksa ls jksdM+&izokg dk mnkgj.k gS 

A- va’kks dk fueZeu     

B- nh?kZdkyhu _.kksa dk Hkqxrku 

C- dPps eky dk udn Ø;    

D- xSj foÙkh; laLFkku ds }kjk fuos’k dk foØ; 

An example of cash flow from investing activities is : 

A. Issue of shares 

B. Repayment of long-term loans 

C. Purchase of raw materials for cash 

D. Sale of Investment by non-financial organisation 
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100- fuEu esa ls dkSu lk en jksdM+ lerqY; gS \ 

A- Vªstjh fcy     B- O;kikfjd fcy 

C- rjy vYidkyhu fuos’k   D- mijksDr lHkh 

Which of the following is considered as cash Equivalent ? 

A. Treasury Bill    B. Trade Bill 

C. Liquid short term Investment D. All of the above

 Section-B

Non-Objective Type Questions 

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each 

question carries 2 marks.       (15x2=30) 

1- izkfIr ,oa Hkqxrku [kkrs rFkk vk;&O;; [kkrs esa nks varj crkb,A   2 

Give two points of distinction between Receipts and Payments 

account and Income and Expenditure account. 

2- iw¡th dks’k D;k gS\         2 

What is a capital fund? 

3- Lkk>snkjh ds vko’;d rRo crkb,A       2 

Enumerate the essential elements of partnership.    
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4- Lk>snkjh ls D;k vk’k; gS\        2 

What is meant by Partnership? 

5- Lk>snkjh lays[k ds u gksus dh fLFkfr esa lk>snkjh vf/kfu;e ds fdUgha nks 

izko/kkuksa dk mYys[k djsaA        2 

Mention any two provisions of partnership Act in the absence of 

Partnership deed. 

6- [;kfr ds ewY;kadu dh fof/k;ksa ds uke crk;saA 

Enumerate the names of methods of valuation of goodwill. 

7- vf/kykHk dk D;k vFkZ gS\ 

What is meant by super profit? 

8- nks ifjfLFkfr;k¡ cryk;sa ftlesa lkekU;r% [;kfr ds lek;kstu dh vko’;drk 

iM+rh gSA 

Give two circumstances in which adjustment of goodwill is usually 

required. 

9- iqueZwY;kadu [kkrk D;k gS \ 

What is Revaluation Account ? 

10- vodk’k izkIr djus okys lk>snkj dks fd;s tkus okys Hkqxrku dh izfØ;k dk 

o.kZu dhft;sA 

Describe the process of payment of amount due to a retiring 

partner. 

11- ykHk&izkfIr vuqikr ls vki D;k le>rs gSa \ 

What do you mean by gaining ratio ? 
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12- izkIr ykHk vuqikr vkSj R;kx vuqikr esa nks varj crk;saA 

Give two points of differences between gaining ratio and 

sacrificing ratio. 

13- ^izfooj.k* 'kCn dks Li"V djsaA 

Explain the term ‘Prospectus’. 

14- va'kksa ds fuxZeu ij izkIr izhfe;e ds D;k ykHk gSa \ 

What are the advantages of premium received on issue of shares? 

15- izhfe;e ij _.k&i=ksa ds fuxZeu dk D;k rkRi;Z gS \ 

What is meant by issue of debentures at premium ? 

16- cV~Vs ij _.k i=ksa ds fuxZeu dk D;k vk’k; gS\ 

What is meant by issue of debentures on discount ?  

17- _.k&i=ksa ds 'kks/ku dh fofHkUu fof/k;ksa dks crkb;sA 

Enumerate the various methods of redemption of debentures. 

18- ifjorZu }kjk _.k&i=ksa ds 'kks/ku ls vki D;k le>rs gSa \ 

What do you mean by redemption of debentures by conversion? 

19- foÙkh; fooj.kksa ds rRo D;k gSa\ 

What are the element of financial statements ? 

20- ,d dEiuh ds vkfFkZd fpV~Bs ds lEifÙk i{k esa fofo/k O;; 'kh"kZd ds varxZr 

n’kkZ;h tkus okyh fdUgha rhu enksa dk uke crk;saA 

Name any three items which are shown under ‘Miscellaneous 

Expenditure’ of assets side of a company’s Balance sheet. 

21- foÙkh; fo’ys"k.k ds D;k midj.k gSa \ 
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What are the tools for Financial Analysis ? 

22- rqyukRed vk; fooj.k ls D;k vk’k; gS \ 

What is meant by comparative Income Statement.  

23- rqyukRed foÙkh; fooj.k ds nks ykHk crkb,A 

Give two advantages of comparative Financial Statements. 

24- ykHknk;drk vuqikr D;k gS \ Li"V djsaA 

What is profitability Ratio ? Explain. 

25- vuqikr fo’ys"k.k dh lhekvksa dh foospuk dhft;sA 

Discuss the limitations of Ratio Analysis. 

26- LVkWd vkorZ vuqikr dk o.kZu dhft,A 

Discuss Inventory Turnover Ratio. 

27- jksdM+ izokg fooj.k cukus ds mís’;ksa dks Li"V djsaA 

Explain the objectives of preparing cash flow statement. 

28- vk; fooj.k D;k gS \ 

What is an Income Statement ? 

29- vuqikr fo’ys"k.k ds fofHkUu mís’;ksa dk o.kZu dhft;sA 

Explain the various objectives of Ratio Analysis. 

30- lapkyu fØ;k;sa D;k gSa \ 

What are the operating Activities ?

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA        (4x5=20) 
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Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each 

question carries 5 marks.       (4x5=20) 

31- fuEufyf[kr lwpukvksa ls 31 ekpZ] 2019 dks lekIr gksus okys o"kZ ds fy;s 

vk;&O;; [kkrk cukb;s % 

'kqYd laxzg fd;k      3]00]000 

osru fn;k       2]00]000 

VwukZes.V O;;        16]000 

;k=k O;;        17]000 

ys[ku lkexzh O;;       12]000 

fdjk;k fn;k        10]000 

Mkd rFkk VsyhQksu O;;       8]000 

iqLrdksa dk Ø;        18]000 

From the following informations, prepare the Income and 

Expenditure Account for the year ending 31st March 2019 : 

Fees collected      3,00,000 

Salary paid       2,00,000 

Tournament expenses      16,000 

Travelling Expenses      17,000 

Stationary Expenses      12,000 

Rent paid        10,000 

Postage and Telephone expenses      8,000 

Purchase of Books      18,000 
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32- [;kfr ls D;k vk’k; gS \ [;kfr dh x.kuk djus dh fofHkUu fof/k;k¡ D;k gS \ 

What is meant by Goodwill? What are the different methods of 

calculation of Goodwill ? 

33- ih0 fy0 us izR;sd 10 :0 okys 900 lerk vaxksa dks ftUgs 10 izfr’kr cV~Vs ij 

fuxZfer fd;k x;k Fkk] vafre ;kpuk ds 2 :0 izfr va’k dh nj ls Hkqxrku u 

gksus ij] tCr dj fy;kA bu va’kksa dks 13 :0 izfr va’k dh nj ls iw.kZ iznÙk 

:Ik esa fuxZfer fd;k x;kA vko’;d tuZy izfof"V;k¡ dhft;sA 

P, Ltd. forfeited 900 equity shares of Rs. 10 each issued at a 

discount of 10% for the non-payment of final call of Rs. 2 per 

share. These shares were reissued at Rs. 13 per share as fully 

paid. Pass necessary Journal entries. 

34- _.k&i=ksa ds 'kks/ku lEcU/kh ys[kh; izfof"V;ksa dks dhft,A 

Mention the accounting entries relating to redemption of 

debentures. 

35- fuEu lwpuk ls ,d rqyukRed vk; fooj.k rS;kj fdft, % 

fooj.k 2018 2019 

ldy fcØh 1]20]000 1]35]800 

foØ; okilh 5]200 3]800 

csps x;s eky dh ykxr 80]000 84]000 

ifjpkyu O;; 12]000 9]000 

vk;&dj 50 % 50 % 
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Prepare a comparative Income statement from the following 

information : 

   Particulars          2018 

        

      2019 

        
Gross Sales 1]20]000 1]35]800 
Sales Returns 5]200 3]800 

Cost of Good Sold 80]000 84]000 

Operating Expenses 12]000 9]000 

Income Tax 50 % 50 % 

 

36- vuqikr fo’ys"k.k ls vki D;k le>rs gSa\ vuqikr fo’ys"k.k dh fofHkUu fof/k;ksa 

dks mi;qDr mnkgj.k ds lkFk Li"V djsaA 

What do you mean by Ratio Analysis? Explain briefly the different 

methods of ratio analysis with suitable examples. 

37- fuEu lwpukvksa ls jksdM+ izokg fooj.k rS;kj dhft, % 

 

izkjafHkd jksdM+ 'ks"k  30]000 

vafre jksdM+ 'ks"k  20]000 

nsunkjksa dh deh   5]000 

nsunkjksa dh o`f)  10]000 

'ks;jksa dk fuxZeu  50]000 

_.k i=ksa dk 'kks/ku  30]000 

o"kZ ds fy;s 'kq) ykHk  40]000 
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Hkou dk Ø;   15]000 

From the following information, Prepare a Cash Flow statement: 

           

Opening Cash Balance  30,000 

Closing Cash Balance  20,000 

Decrease in Debtors   5,000 

Increase in Debtors  10,000 

Issue of shares   50,000 

Redemption of Debentures 30,000 

Net Profit for the year  40,000 

Purchases of Building  15,000 

38- lk>snkjh QeZ ds fo?kVu ij fglkc&fdrkc fuiVkus ds laca/k esa dkuwuh izko/kkuksa 

dk mYys[k dhft;sA 

Explain the legal provisions for the settlement of books on 

dissolution of partnership firm. 

 


